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Important Instructions:

L.

All types of CALCULATORS, PAGERS, OR MOBILES ARE NOT
ALLOWED to be with you during the examination.

Use an HB Z%pencil.

Use a good eraser. Do not use the eraser attached to the pencil.

Write your name, ID number and Mathematics Section on the examination
paper and in the upper left corner of the answer sheet.

When bubbling your ID number and Math Section number, be sure that -
bubbles match with the number that you write.

The test Code Number is already typed and bubbled in your answer sheet.
Make sure that it is the same as that printed on your question paper.

When bubbling, make sure that the bubbled space is fully covered.

When erasing a bubble, make sure that you do not leave any trace of
penciling.

‘Check that the exam paper has 22 questions.
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Ql.

Which one of the following functions has its graph symmetric with respect to the y-axis?

6&7‘6&1 s«v?jmwuz/tra w.v. b Wa~¢'»><\§

‘A _ sinx | = WUSA;W VA 2Va 4%k
x —tanx \ —)
B) y =sinx secx o~ P :
- S e > dd
C)  y =tanx +sinx B) oo cecn = @dﬂ)(w) — odd
D) y =—4sinx C) oo + Mmiam w = “.AA + O\J/C) st 0\4/01

i*:) y =sinx +cosx D) — U e = (UJ,,A) (wg,c/ - odd
&) Ahmyw + comt = 6’14/7'4'&)1/14:&(&?1&%

.
g
The expression (log; 5)(log; 7)(log, 81)(&) e simplifies to

: w , 1:2581 | i"i‘ﬁz@@)
A) 10 %{5’/

B) % ko, 81 et =
o s o, 81 15% - 4 5220
,_/b’) 20 ’

E) 25
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Q3.

Which one of the following equations has no solution?

A) tan x =-05 €& Rom e,(ﬁwx,) - (;»\4, bo)
i3) secx =7 3.\ 4 & ngb(ilech): G“,'ﬂuzi’?)
l/r C) Jesex =-2 (= €CH =~ 1/3 % (-M’-JU[’. “)"2"“«5& (C,S’cx)

—

i)) dcosx =7 (=) &nx:?{’— é-£4/i7 - Qawgi,a (w?)k)
E) 5sinx =3 (_';) /b\,’y\i(_:.z 6[.//17 = 2@0\3& (@/}V\7L)

Q4.
If the graph below represents the function y = atan(bx +c), where b> 0, over (— % ,%71) ,

then a+b+c is equal to

&t N A,q,u‘awﬁr\*kg x
A ~6+7m W 4--y
) 4 = @ ! ‘
. _ — 2
3 P o :9’_.—“- -\ " ) ) = 17( _\
B) ——2” . (-%% L : | x
6 LI B (R R O L N L
-7 - —_— ~
¢ G i
=[h ) h
6 ? /2 B
. i

5 2 -‘})C:—{:
_ e+ - -
@+xb+toc z A
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Q5.

Which one of the following statements about the solutions of the equation 4" — 2(2" ) =8 1s

true? L

. ) ‘—,?/.(i")-—«?:-o

\2
A)  There are two solutions, one positive and one negative. (LJ9 2 ( 2 ) 8§ -0

. 2 )
B) There is only one solution and it is an odd number. 7 - 22- -&:- o
0 The sum of the solutions is 3 (g - Zf) (} +2 ) = ©
. . o
D) There is only one solution and it is not an integer. 2= 4 = x= 2
. X -
\/'E) ms only one solution and it is an even number. L =-2 No go fu /” 7
Q.

The linear speed, (in cm/second) of a point on the edge of a wheel of radius 3 cm that is
turning at a speed of 50 revolutions per minute is

A) 5 cm/sec Ny = W - r

i/.B) 5 cm/sec - 5)6 X N’é‘_ . \3 s 5 7( W/Ce,c,
' : t&/@/ e

) 7 cm/sec
2

D) 150 cm/sec

E) —5—:— cm/sec




If tan@ =—i— and cos@ <0, then sin@ +cos@ is equal to

A 7 G o =TT
3 .4
B) =< %m@;-—‘;--— g
o 1 /l_f__j :_9/3:,3
D) -3 re §
WG+ b= "—_—?» +
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Q7. |
17x .
The exact value of csc(——6—) 1s ese
odd| . _
, ) ‘K“)
cse (« 35 ) — - ¢s ‘/(—i—-—
& 6
A) \/5 S
- i -— < 7 s
2 L{zr_ - P + l.__\_ - LT + 2— - ﬁ ?
\/B) -2 / R _
. v - T ST - T
¢ 2 ¢ L
. _, 1
2 —cce(FE) - —csc(B) = - ——— =
D) - . - @
V3 6
E) -1
Q8.
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Q9.
) 2 X . . .
If y=-2-3sin(2x +—37£) , M is the maximum, P the period and S the phase shift then
M+ P+5 is equal to
T
M =M X = \Q\
A -
) 3 ]2 i
B 9
3 =
)] —
3 M+
17
D -
) 3
s
E z
(/ 3
Q10.

If the angle of elevation from a point 10 feet from the base of a tree to the top of the tree is &,

and if sinf = % , then the height of the tree is

W
(/ A) D feet. / ¢ ‘
2 ‘ % =40
' - h
B) % feet. Comb - 716' = h= 40 tou &
‘ e'; 3 = l = - if, - Z/"
)] 2745 feet M /5 r ? !

-
—

= h - 10. o - 10 . 3

30 -
7"

D) 6 feet.

E) 15 feet.
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Ql1l.

The graph of the function f (x) = IS“ - 4] intersects the line y = % x+2 in

4(") -6 - A 1(—/15.-)7(” h | Ix+2

A) 2 points

B) 3 points

) No points

b) 4 points o 1

. 2

E) 1 point ‘11@ n + 2 Mk

- ~ xmk 2 =- 4
%'}\L

Q12. )

The graph of the function f(x)=-2sin(3x) over [0,27] intersects the line y =% at
97 , codams 3 (s
P - ’L— / [0 r an f’w

, 3
A) 3 points. 1]

1 % Tax
%3) 7 points. \ XWLX \

VCT 6 points, 1S 1{% an
. 3

D) 2 points.

3

E) 5 points.
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Q13.
If the length of AB in the following figure is 10 cm, then the length of DC is

Y%

WSﬁcm \[—: (:M 60@ - h - % :‘{-e-tu
B) E\/gcm \
2 / o A £ WG
. = tay 30 - = . T —
C) 15cm V3 X 4 (0 A 410 h+10V3
. ~ V3
: / _

D Scm. : (j‘“+ O@)_hﬁ => A +/0V3 = 3%
- V5 Jad
F) 1073 =) /oV3 ~ 5 4 7)1«&: 5’1[2:‘}
Ql4.
The number of vertical asymptotes of f (x)=2cot§—2)£ in the interval (—%,Bﬂ) is

\/ A L
. T Z= e cldn ¢ S o5
) 7 < < > =

A) > C:'; The \‘u.,te/r&urj ave
B) 9 O, 4,2, 3
.) - =1IC < InTC < 37T A 4 Zf'
© 3 e 3 We hove 5 V. A
! —~ I ¢ anT ¢ 9T
D) 2 AR
E) 4 - 3
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Ql15. ’

The equation of the function whose part of its graph is drawn bclow is

: KLU Y eheoeen 5

A) y =—coséx Are Uf\/?’kwk

. bau Verbed 1T e
B)  y--sindx gl d«% ¥ _ N Y% |
So Wb/vw\ Kb R0

~1F

N ~I\: puiSS | W wh'lue,
78 V( '
r =

b

/)‘bzl - L&; g L

X -

C) y =-—sin2x

M y =cos2x T

E) y =-cos2x =) (5

(R

Q16.

The graph of f (x) * is above the x-axis on the interval

C/ %(x >~ 3 _H'm ) R 3
v G gt

B) (—l,oo) o /_f
’ \ oo ve
C)  (~,3) [ ey

; |
S I 7€

E)  (-log,2,)
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Q17.

The function f (x ) = log, (34; )is S o‘ez 4()11

A) increasing and passing through the quadrants [ and IV.
B) decreasing and passing through the quadrants III and IV.
C) increasing and passing through the quadrants II and III.

D) decreasing and passing through the quadrants II, IIT and IV.

ﬁ increasing and passing through the quadrants I, IIl and IV.

(9& +5) - LTBLX

,lwb (x43) — 3

Q18.

Which statement about the graph of the function f(x)=-3 sec%x over the interval [%, 5i| 18
true?

A) There is a minimum but no maximum for the function.

A The maximum value of the function is f (%)

C)  The maximum value of the function is f/ (5)

D)

E)

The graph has neither a minimum nor a maximum for the function.

The maximum value of the function is f (4)

Mmawx = %((/L)

CL'J-P'S Scy '\'(A{, 64“\1 /‘—a

Tre M w max % a mawn

MM‘:.S
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Q19.

. e . . . x-=35
The domain in interval notation of the function f(x)=1In ’

7

\23:_5.\7@ & l“"“r\:ﬁo

A (=0,0)u(5,)

LB (@0U0Ee) g 4§ g A
§> (-0)u[5.0) Do - (,w/ o)u °/§) U(S/ b")

D) (—oo,oo)

E) (5,00)

Q20.

If « is the complementary angle of 26°25'21" and f#=32°31'41" then a + § is equal to

. 850 5—3/ 60” (730 34/ 330
Y 144

‘A o 6'20n - 287257 21" 32° 31/ 4!
9, Vd éy =

' 0 = 63 34 33 95° 65’ 507

B) 96° 16' 59" p py

. - 96° £~ 20°

C) 95° 6' 62"

D) 95° 56'2"

E) 96° 59" 40".
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Q21.

The solution set of log(—x—2)+log(l-x) =1 consists of
J?ﬂa (»h 2)(A-n) = |
A) One positive number only. l/v-K @J’ + 9 — fL‘) -~ 1 = \N‘B 'O

VB)/ One negative number only. 9(/1 4+ 9 - L =210
. A A O
C) Two positive numbers only. X4C - 22
. 9 ~ _ 2 - 'O
D) Two negative numbers only. ()(' t LO <X 3)
. .. . )(. = Lf / 7= 3
E) One positive and one negative numbers.

Check + a=23 rvxvf/hﬂ(/ x= =Y
(&Cw

Q22.

If log;2=a and log,;5=10, then log9 interms of @ and b is equal to

| g - %9 . _E
Y 5 & dgre o)

a b - l
' S+ (ﬁ?)}
o Los,

2

atb
D) —~
H 2




